L9.2

Welcome Back!



Use the figure for Exercises 1-3.
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1. Write the tangent ratio for ZK. ¢

2. Write the tangent ratio for ZM. ‘f?
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3. Find m4ZM to the nearest degree. 2¢{ % = i (

Find x to the nearest whole number.
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‘ Defn: Sine and (osine Ratios I

opp

tanA=%Jl-3—
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‘ Defn: Sine and (osine Ratios I

sinA=——
B
hyp
COS A=——- opp
ch
adj

tanA=%JP—
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‘ Defn: Sine and (osine Ratios I

sin A= OPP
“YP

B

hyp
COS A =—— opP
c
adj

opp

tanA=mJ—
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‘ Defn: Sine and (osine Ratios I

. opp
sin A= _W
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‘ Defn: Sine and (osine Ratios I

sinA=—O|;r2
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‘ Defn: Sine and (osine Ratios I

.. opp _
sin A = hYP -
B
adj i hyp
cos A = Ryp - P(':_I
adj
opp _ BC

tan A = GdJ AC



‘ Defn: Sine and (osine Ratios I

.. opp _
sin A = hYP -~ "AB

adj i hyp
Cos A = Ryp — AB PP

c

opp _ BC
adj AC

tan A =



‘ Defn: Sine and (osine Ratios I

PP _ BC

sin A = hYP ~"AB

adj  AC

COS A = Ryp = AB

opp _ BC

tan A = CldJ AC

opp
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1iasg way to keep the trig ratios straight...

. Opp

Sin A= H—YP
~ Adj

Cos A _H—YP
Opp

Tan A =m\i—
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‘ E_asg way to keep the trig ratios straight... I

. Opp
Sin A= H—YP
SOH-CAH-TOA
_ Adj
Cos A _H—YP
Opp

Tan A =m\]—



‘ E_asg way to keep the trig ratios straight... I

. Opp
SOH Sin A= H—YP
SOH-CAH-TOA
CAH: Cos A _Ad)
- YOS A T Hyp
Opp

TOA: Tan A =mj_
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‘ E_asg way to keep the trig ratios straight... I

. Opp
SOH Sin A= H—YP
SOH-CAH-TOA
CAH: Cos A _Ad)
- YOS A T Hyp
Opp

TOA: Tan A =mj_
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‘ E_asg way to kecP the trig ratios straight... I

SOH-CAH-TOA

SOH: Sine Opposite over Hypotenuse

CAH: Cosine Adjacent over Hypotenuse

TOA: Tangent Opposite over Adjacent
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‘ \/\/l’\at does this mean? I

tan”(x)
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‘ Wl’\at does this mean? I

tan(x) =tan‘1(%%‘j2)
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‘ \/\/hat does this mean? I

tan"(x) =tan‘1(%%‘j2) =the measure of the angle whose tan is

opp
adj
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‘ T he [nverse Trig K atios I

1 QDD _
sin'( hyp) = the measure of the angle whose sin is QhQQ
yp

4¢adj
cos™'(25)) = the measure of the angle whose cos isﬁ—d-'l
yp

1(0PDy _
tan-( ad ) = the measure of the angle whose tan is 9%9
ad)
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1 sinT=

skip to next page for quest
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2

cosT=

skip to next page for quest
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3

sinG=

skip to next page for quest
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‘ Example =
1) sinT =

2) cosT = " “ hyg
_ —
3) sinG = %? - 12 ©
4) cosG = AT !
{
|=I...back
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Examplc

A 20 ft wire supporting a flagpole forms a 35 angle w/the flagpole.
To the nearest foot, how high is the flagpole?
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1) mA=
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Examp]e

A right A has a leg 1.5 units long and a hypotenuse 4.0 units long.
Find the measures of its acute angles to the nearest degree.
Call the smaller angle A and the larger B.

1) mZA = A\ 2 f)_'LD
of /‘) -
2) m£B = o ain (2 f
s (Y
v, [05
® D
u, 0
\,4
A

...back
2 |
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‘A real life example of using these trig ratios... I

1500's Copernicus, astronomer

1 AU is the avg dist from Earth to the Sun
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‘ L9.Z H\/\/ Froblems I

Pg 479 #1-17, 22-24, 26, 28, 37, 43, 45-47
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